Monthly Safety Meeting Quiz
“Hierarchy of Controls”

Date: Last 4:

Instructions: Circle the letter that corresponds with the correct answer.

1. Personal protective equipment (PPE) should only be used as a:
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a) First line of defense
b) Last line of defense
c) Necessity
d) Any of the above
. The section in the Hierarchy of Controls which affords workers the greatest level of protection is:
a) Engineering controls
b) Administrative controls
c) Personal protective equipment
d) Elimination
. Written workplace policies and procedures (like LOTO, confined space, etc..) would be considered an
example of:
a) Administrative controls
b) Engineering controls
c) Elimination
d) Personal protective equipment
In some instances, use of other controls can potentially eliminate the need for PPE altogether.
a) True
b) False
Moving our work from a hazardous environment to a safer environment would be an example of
utilizing:
a) Elimination
b) Substitution
¢) Engineering controls
d) Administrative controls
. The Hierarchy of Controls should be used:
a) Only with serious hazards
b) With every hazard
¢) Only when time allows
d) Any of the above
Signs, tags and barricades would be examples of Administrative Controls, but are only affective if they
are:
a) Seen
b) Understood
c) Followed
d) All the above
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